EARAROBEEIERT — 2 N— IBISH —F

2012858250 (&) 4mSHA4H

mﬂi%c1 4 -17%#H C1417 H7%—#% ‘(ﬂ;} 2 ‘[%iﬂ%Fsﬁ] — | & (@ 14000 B
[AE4£] 1% :130,000 ™ ~ 2#%:26,000”  3#%&:13,000”  4%&:0MH / 5&:0M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= o4 | RINARI 1:32.2 1-1-1-1 | 39.4| — 1 470 | BENEE (1)
1111|7727 1 56.0 ) 1) W Tz hEvas
Ry F IR BTIRHIRE— FIXTT— I
AT i 4 | ARES 1:32.5 6-6-3-3 |39.1| — 2 394 | IREBA (&)
2lglip F7VE> 55.0 (172 4 |AEE—
L2y TELRVF— B:AJUE X R EX
S— KJ— it 5 | EHEN 1:32.5 2-3-2-2 [39.6| — 3 434 | EIBREEL (&HR)
3 2|7 55.0 (74=) (+6) (\/) 77> M5
G RA YA~y BiRkY/ax 55 Rikie
N SLE— : -9-7- - REERSET (S5HR)
MOREREPE B it 6 A 1.(363).7 8-9-7-7 |39.9 9 51:322) o A
R:75vok—0 B:4>O-—K =5 =M
1EmER A . ~7-6- - BAEE (1)
5 3| T7AT77=A% LI it 6 54.0 1'(313)'9 766 1403 s igf E(Mi) 7 :
LY I5TLIFo b BiT7rp—LhlLyY N E454%
o it 6 | EBM 1:34.2 3-4-5-4 |41.0| — 4 456 | WITiEE (5H1)
6|78 TAIAITAT 54.0 (1 1/2) ) Uﬂ‘_"';ﬂ
L:A—2 B:v747A-F 2B 8
— 5 | Blafnt 1:34.3 5-5-4-5 |41.1| — 6 443 | ETEFREE (S542)
717 7| =k>EBTL—N # o o - B
R:2FA4d—I K B:ZkrEQXT> EaRK BEF
= f 8 | EOME 1:34.6 9-10-8-8 |40.6| — 7 441 | WBRE=E (28)
s 6| ¥V IT>T 1N — 54.0 (1 1/2) Cpy |BfEER
L:vUIPN—F B:XTYLTT3-T BERYUS
> . . > 6 | BERE 1:37.4 10-8-9-9 [43.4| — 10 | 407 |BAEE (F42)
ol 4| Y7 77HA-R “ 7] 86.0 (544 “2) " Tr—2kEvas
RiaAF 0 ML BV ITILALR BAYS
o= 4 | KEFHFE — 4-2 — — 44 BEEIER (5543)
¥/ 8|9 |FATE/ bETZ i 54.0 (k) ° (_10) EE 1 :
vt B R—IN—=2 2 f— EalliEse
® 1—F—@EBIERL
13—7+— 1,2,8,9,7,10,3,5,6,4
2a=5F= 1,9,2,8,7,10,3,4,5,6
Ja=5= 1,2,10,7,8,3,5,6,4
40—F— 1,2,10,8,7,3,5,6,4
[ N5
B 1 100 7 3 1-8 220M 3EE 1-2-10 190M
B B 1 1004 e B 1-8 290M EH 1-10-2 530
10 120M4 B & 1-10 250M
2 130M B HE 1-10 300F

ABICOVWTRDTEEERROODE. TR LIV,




